| Efficiency vs Dxy |
> 05

dx

S
©
I
)]
[

......................................................................

o
N
|

e T e e

efficiency v

o
[
[

025

................................................................

Ratio

50 C15 =10 =5 0 5 10 15 20
TP dxy (cm)

—=— DQM_origmal_stepZ_ttbar-phasel-newgeom
ffici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

0.5 —+— DQM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

377 SN NN RS S S —

dz

a‘ E : : : : :
§ 04
(8] r : : : . .
£ 0.35 Froenreree Frorreneenes frorereees A
(5] - : : : : :

OB
0,25 bt
02:_ : : # :

oagf ol
oAl
M ————
.0 | | | | |

Ratio

s b

30 20 =10 ¢ 0 20 30
TP dz (cm)



	Contents
	Page 1


